RETAN #9 WwWaW3 01

% EROk (S$14. A4, BW34. CH55)

(1) Y= x23j— T (2) y = sin z2
(3) y = log |3z — 4] (4) Y= 9z’ +1
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212 _ 2
1 = (2) y=tanz

W y=5o

(3) y = log | cos 3z (4) y = 3sinz
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REFAN #%9 WBAaW3 01 REHRS

;Li ERo L. (SH1%. A2, B35, C%54)

(1) Y= 1;23—7— T (2) y = sin z2
y = (3z)"+ (a* +1) — (32) * (* + 1)’ y = (sinz?)
(% +1)2 — (cosa?) - 2
322 +1)—3x- 22 = (cosa”) * 2 =
- L =2xcosz? EBZ
_ =322 43 s
= (:c2—|-1)2 = A
_ —3(x+1)(x—1) gz
(332+1)2 =
(3) y = log |3z — 4] (4) y = o(z°+1)
y' = (log |3z — 4|)’ yl¥, 22 2FLT1ZRELT,
- = 1 o (B —4) 3ICOVTDZEDORNERE Lo b 0.
T — _ .3
_ 3 Lmz = {“‘x SRS IFS I
3r — 4 = y =2
e ST y=2 wmat
! = Y _gu oau _ g2
g | (@)} = L2 aw =20082 g =3
HHET/OBLAY B 1L, dy _ dy du
y =log (4 —3z) I LTHS L, dz du dx
=2"log 2 * 3x2

= 2@+ 1592 + 372

= 32 2(w3+1)'log2 Xz
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%m‘zm. (SH15, A2

22
Y

1 R
W 222 4+ 1

;o (22%) (222 + 1) — (222) - (222 + 1)

N (222 4+ 1)?
4x(22% +1) — 222+ 4o
(222 +1)2
4x
(222 4+ 1)2

...gi

(3)  y=log|cos3z|

y = (log| cos 3z|)’
_ (cos3z)

cos 3x
_ —3sin3z
T cos3z
—3tan 3x
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, CHk6T)
(2) y=tanz?
y' = (tanx?)’
1
= ° 2
cos? 2 “
2z s
= =
cos? x?
(4) Y= 3sinac
u =sinx
= { EBL.
y=3"
y=3" wu=sinx
dy du
= —_— = ul _— =
du 3% log 3 d cos T
dy _ dy  du
dx du dx
=3%log3 cosx
=387 Jog 3+ cos x
= 3%5inTecosxrlogd EZX
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